
FOR PLASMA 
TORCHES

TIG & PLASMA  FITTINGS – CURRENT NIPPLES

WP-17 (FRONT)
1   CN-17-2
2   CN-17-2-S
3   NP-17-2
4   CN-17-2-SL
5   NH-CN-17-2
6   CN-17-1

14  CN-17-1-79 

PART NO DESCRIPTION WP-17 (REAR)
7    NN-17-1
8  NNK-17-1
9    NN-17-4
10  NN-17-12
11  NNWI-17-1
13  NN-17-16

PART NO

WP-26 (FRONT)
20   CN-26-1-L
21   CN-26-1-68
28(21) CN-26-1-46
22   CN-26-2
23   CN-26-2-S
24    NP-26-2
29(24) NP-26-2-T
25   CN-26-2-SL
26   NT-CN-26-2
27   NH-CN-26-2

30   CNB-26-1
31   NN-26-1
32   NNK-26-1
33   NN-26-4
34   NN-26-12
35   NNWI-26-1
36   NP-CNB-26-1
37   NT-CNB-26-1
38   NN-26-16

WP-26 (REAR)

WP-18
40    CN-18-1
45(40) CN-18-1-46
46(40) CN-18-1-79
41   NNW-18 (L.H.) 
42   NNW-18F-W22
43   NP-NNW-18
44   NT-NNW-18 (L.H.)

50 CN-12-1

51   NNW-12(L.H)

12   NN-12-1

WP-12

60   CN-20-1
61   NN-20-1
62   NN-20-4
63   NN-20-12
64   NNW-20 (L.H.)
66   NP-NNW-20
65   CN-24-1

WP-20 , WP-24

80   CN-P-80
70   CN-40-68

71   CN-50-68
72   CN-50-79
73   CN-68-F
74   CN-79 

75   CN-68-M8
76   CN-68-M10
77   CN-79-M10

81   CN-PL-17F
82   CN-PL-18F
83   CN-PL-26F

85 PCN-35-M10
86 PCN-68-F
84 PCN-710-F

DESCRIPTION

PART NO PART NO

PART NO

PART NO

PART NO

PART NOPART NO

DESCRIPTION DESCRIPTION

DESCRIPTION

DESCRIPTION

DESCRIPTION

DESCRIPTIONDESCRIPTION

FOR 2 PC ASSY
FOR 2 PC ASSY
ONLY NIPPLE
ONLY SLEEVE
SMALL NIPPLE
FOR 1PC ASSY 
(RH) (6x8)
FOR 1PC ASSY 
(RH) (7x9)

3/8  RH F   (6 x 8)
9/16 RH F  (6 x 8)
1/4 RH F    (6 x 8)
12/1 RH F  (6 x 8)

M16*1.5 RH F (6x8)

FOR 1 PC ASSY (7 x 9)
FOR 1 PC ASSY (6 x 8)
FOR 1 PC ASSY (4 x 6)
FOR 2 PC ASSY
FOR 2 PC ASSY
ONLY NIPPLE (STD)
ONLY NIPPLE(O.D. 4.0MM)
ONLY SLEEVE
ONLY NUT
SMALL NIPPLE

7/8 RH M   (7 x 9)
3/8 RH F     (7 x 9)
9/16 RH F  (7 x 9)
1/4 RH  F   (7 x 9)
12/1 RH F  (7 x 9)

ONLY NIPPLE
ONLY NUT
M16*1.5 RH F (7x9)

FOR FRONT (L.H) (6 x 8) 
FOR FRONT (L.H) (4x6) 
FOR FRONT (L.H) (7x9)
7/8 LH M   (6 x 8)
W22 RH F  (6 x 8)
ONLY NIPPLE
ONLY NUT

FOR WP-12 P.C FRONT
(7 x 9) 

7/8 LH M (7 x 9)

For WP-12 Front-Gas & 
Water In (O.D.-5.2 mm)

FRONT        (4 x 6)
3/8 RH F     (4 x 6)
1/4 RH F     (4 x 6)
12/1 RH F  (4 x 6)
7/8 LH M   (4 x 6)
Nipple for NNW-20(L.H.)

FRONT       (4 x 6)

FOR P80 FRONT (6 x 8)
FOR PT31 FRONT (6 x 8)
(3/8-24)

IDxOD – 6x8
IDxOD – 7x9
IDxOD – 6x8
IDxOD – 7x9

M8x1 – 6x8
M10x1 – 6x8
M10x1 – 7x9

IDxOD – 6x8
IDxOD – 6x8
IDxOD – 7x9

M10x1-3x5
M10x1-6x8.4
M10x1-7.5x10

FOR PLASMA TORCHES

Parts & Torches offered by Truweld Welding Industries are not genuine parts &
are only compatible parts.
Reference to Brand, Torch & Part No is only for convenience.

AUTHORISED DISTRIBUTOR

Rev: 29 Nov 2021

Product of:
TRUWELD 
WELDING 
INDUSTRIES


